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QUESTION 1

Refer to the exhibit below. In this integration production structure, what Send JSON Path would be used to send the
Output of the Action1 element to a Remote Action? 

A. Action1. BlockB. Block A 

B. Action1: BlockB. Block A 

C. BlockA: BlockB. Action 1 

D. BlockB: BlockB. Action1 

Correct Answer: B 

 

QUESTION 2

A developer is configuring the API URL in an HTTP Action element within an Integration procedure. 

What is the merge code syntax for passing a Date node from an element named SetValues in the URL? 

A. x%SetValues.Date% 

B. (` Setvalues\\'] [ `Date\\'] 

C. %SetValues Date 

D. {(SetValues. Date)} 

Correct Answer: A 
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QUESTION 3

A developer is configuring a DataRaptor Load to Save contract data. The developer needs to set the record type of the
contact using DeveloperName. Which two configuration actions should the developer take to set this up in the
DataRaptor Load? 

A. Check is Lookup property when mapping the fields. 

B. Add Link to RecordType object in the Contact Object with the id field of RecordType object. 

C. Select RecordType in the Lookup object list. Development in the lookup Field list, and ID in the Lookup Requested
Field list. 

D. Select RecordType in the Lookup Object list. ID in the Lookup Field list, and Development in the Lookup requested
Field list. 

Correct Answer: AC 

 

QUESTION 4

Refer to the exhibit. 

The card layout uses an integration Procedure as a data source. The cards use the layout data source. 

Which JSON data structure supports this card layout and follows best practices? 
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A. Option A 

B. Option B 

C. Option C 

Correct Answer: C 

 

 

QUESTION 5

In a calculation procedure, what is required for the output of a calculation step to be used in an aggregation step? 

A. It must be included in constants. 

B. It must be a matrix lookup step. 

C. It must be a calculation step. 

D. It must be included in the calculation output. 

Correct Answer: D 
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